
Chapter 7

Ownership Patterns and Income Taxes Consolidated Financial Statements

23. (45 Minutes) (Series of questions requires computation of income tax expense and the related payable balance)

a.
$260,000
($650,000 x 40%)

The affiliated group would be taxed on its operating income of $650,000 (the net unrealized gain is deferred on a consolidated return). The intercompany income and dividends are not relevant since a consolidated return is being filed. 

b.
$260,000
($650,000 x 40%) 

The affiliated group would be taxed on its operating income of $650,000 (the net unrealized gain is deferred on a consolidated return). The intercompany income and dividends are not relevant because a consolidated return is filed. The percentage ownership does not affect the figures on a consolidated return.

c.
$296,000
($96,000 + $200,000)

Rogers would pay $96,000 or 40% of its $240,000 operating income. Clarke would pay $200,000 or 40% of its $500,000 operating income. The unrealized gain is not deferred because separate returns are being filed. Intercompany dividends are not taxable because the parties qualify as an affiliated group even though separate returns are being filed. Answer c. differs from a. and b. because tax on the $90,000 unrealized gain (40% or $36,000) is paid immediately.

d.
$268,064

Rogers would record income tax expense of $96,000 or 40% of its $240,000 operating income.

Clarke must record its expense based on the revenue recognized during the period. Thus, the tax expense will be based on operating income of $410,000 (the net unrealized gain is not being recognized in this period) plus equity income accruing from Rogers of $100,800 (70% of that company's after‑tax income). Clarke will record an income tax expense of $164,000 in connection with the operating income ($410,000 x 40%). The expense recognized in connection with the equity accrual is affected by the dividend received deduction:


Equity income of subsidiary

$100,800


Dividend received deduction (when received) (80%)

   80,640

Income subject to taxation 

$  20,160


Tax rate 


       40%

Income tax expense—equity income (Clarke) 

$    8,064


Income tax expense—operating income (Clarke)


(above) 

164,000
$172,064


Income tax expense—operating income (Rogers)



(above) 


    96,000

Income tax expense 


$268,064

e.
$204,480
Clarke will pay $200,000 in connection with its operating income ($500,000 x 40%) because the unrealized gain cannot be deferred. Clarke also receives $56,000 in dividends from Rogers ($80,000 x 70%). Tax payment on these dividends is $4,480 ($56,000 x 20% x 40%). The difference between the payment by Clarke ($204,480) and the company's expense in d. ($172,064) is created by the premature payment of the tax (a deferred tax asset) on the unrealized gain ($90,000) less the deferred tax liability on the parent's equity accrual ($100,800) in excess of dividends received ($56,000).

29. (70 Minutes) (Consolidation entries for a business combination using both the entries treasury stock approach and the conventional approach)

a.
Acquisition Price Allocation and Amortization Mighty's Purchase of Lowly


Purchase price 

$400,000


Book value equivalency ($500,000 x 60%) 

 (300,000)


Trademarks

$100,000


Life

20 Years

Annual amortization 

$    5,000

CONSOLIDATION ENTRIES (Treasury Stock Approach)


Entry *C



Investment in Lowly 

150,000




Retained Earnings, 1/1/04 (Mighty) 


150,000

(To record $180,000 income accruing to parent during the previous years as measured by increase in book value from $500,000 to $800,000 [$300,000 x 60%]. This entry also recognizes $30,000 amortization expense for the previous six years [1998-2003] at the rate of $5,000 per year.)


Entry S1



Common Stock (Lowly) 

300,000



Retained Earnings, 1/1/04 (Lowly) 

500,000




Investment in Lowly (60%) 


480,000




Noncontrolling Interest in Lowly 1/1/04 (40%) 


320,000

(To eliminate stockholders' equity accounts of subsidiary against corresponding balance in investment account and to recognize noncontrolling interest ownership.)


Entry S2




Treasury Stock 

240,000




Investment in Mighty 


240,000

(To reclassify cost of parent shares, appropriate under the treasury stock approach.)


Entry A



Trademarks 

70,000




Investment in Lowly 


70,000

(To recognize unamortized portion of acquisition price relating to Trademarks as of January 1, 2004.)


Entry E




Amortization Expense 

5,000




Trademarks 


5,000


(To record amortization expense for 2004 in connection with Trademarks allocation.)

29. (continued)

Noncontrolling interest in subsidiary net income is computed by multiplying $40,000 (as measured by current change in retained earnings) by the 40% outside ownership for a balance of $16,000.

b.
The allocation and amortization of Mighty's acquisition price will be the same as shown above in part a. No allocation is made of Lowly's investment because the cost was equal to the underlying book value of Mighty.

Under the conventional approach to mutual ownership, two simultaneous equations are solved to determine equity income accruals for the periods prior to the current year. Mighty’s book value at the date of Lowly's purchase was $1,200,000 ($240,000/20%) while at the beginning of the current year it is $1,700,000. Mighty has reported income of $500,000 (as measured by its change in book value) since having its stock acquired by Lowly. Mighty has not, however, recorded amortization expense of $30,000 (6 years at $5,000 per year) stemming from its investment. Mighty has also failed to record any equity income accruing from its 60% ownership in Lowly. Its realized income is, thus, computed as follows:

Mighty's realized income = $470,000 + 60% (Realized Income of Lowly)

Lowly's reported income has been $300,000 during the previous years ($800,000 less $500,000), also measured by the change in book value. That figure does not include the 20% share of Mighty's realized income.

Lowly's realized income = $300,000 + 20% (Realized Income of Mighty)

Substituting the second equation into the first:


MRI = $470,000 + .6($300,000 + .2 MRI) 


MRI = $470,000 + $180,000 + .12 MRI

.88 MRI = $650,000


MRI (Mighty's realized income) = $738,636

Because Mighty only reports $500,000, an additional accrual (Entry *C1) is recorded for $238,636 to convert to the equity method.

Substituting the first equation into the second:


LRI = $300,000 + .2($470,000 + .6 LRI)


LRI = $300,000 + $94,000 + .12 LRI

.88 LRI = $394,000


LRI (Lowly's realized income) = $447,727

Because Lowly only reports $300,000, an additional accrual (Entry *C2) is recorded for $147,727.
29.
(continued)


CONSOLIDATION ENTRIES (Conventional Approach)


Entry *C1



Investment in Lowly 

238,636




Retained Earnings, 1/1/04 (Mighty) 


238,636

(To convert reported earnings of Mighty in prior years to realized income totals as per the simultaneous equations solved above.)


Entry *C2



Investment in Mighty 

147,727




Retained Earnings, 1/1/04 (Lowly) 


147,727 

(To convert reported earnings of Lowly in prior years to realized income totals as per the simultaneous equations solved above.)


Entry S1



Common Stock (Lowly) 

300,000



Retained Earnings, 1/1/04 (Lowly, as




adjusted above) 

647,727





Investment in Lowly (60%) 


568,636





Noncontrolling Interest in Lowly, 1/1/04 (40%) 

379,091

(To eliminate stockholders' equity accounts of subsidiary against corresponding balance in investment account and to recognize noncontrolling interest ownership.)


Entry S2



Common Stock (Mighty) (20%) 

200,000



Retained Earnings, 1/1/04 (Mighty) (20%)




(adjusted above) 

187,727





Investment in Mighty 


387,727

(To remove intercompany stock held by Lowly. Equal to 20% of parent's outstanding shares.)


Entry A



Trademarks 

70,000




Investment in Lowly 


70,000

(To recognize unamortized portion of acquisition price allocated as of January 1, 2004 to Trademarks.)


Entry E



Amortization Expense 

5,000




Trademarks 


5,000

(To record amortization expense for 2004 in connection with Trademarks payment.)

29.
(continued)

Noncontrolling interest in subsidiary net income is $26,818. This figure is based on 40% ownership multiplied by Lowly's realized net income of $67,045. Because of the mutual ownership, Lowly's realized income is determined by solving two simultaneous equations for the current year. Reported income is found by change in book value. Parent also has amortization expense of $5,000.

LRI = $40,000 + 20% of MRI



and

MRI = $100,000 – $5,000 + 60% of LRI

Then with substitution


LRI = $40,000 + .2 ($95,000 + .6 LRI)


LRI = $40,000 + $19,000 + .12 LRI

.88 LRI = $59,000


LRI (Lowly's Realized Income) = $67,045 (rounded)

c.
The intercompany sale creates a $30,000 unrealized gain for Mighty and a subsequent overstatement of depreciation expense (based on a 10-year life) of $3,000 in both 2002 and 2003. Therefore, an Entry *TA is added to the 2004 consolidation to offset these effects:

Entry *TA


Retained Earnings, 1/1/04 (Mighty) ($30,000 – $6,000)
 
24,000


Equipment ($80,000 – $50,000) 

30,000



Accumulated Depreciation ($64,000 – $10,000)


54,000

(To remove effects created by intercompany transfer of equipment and return accounts to historical cost balances.)

In addition, because the equipment remains on Lowly's books at an inflated value, the 2004 depreciation expense will be overstated and must be reduced in the consolidation process:


Entry ED



Accumulated Depreciation 

3,000




Depreciation Expense .


3,000

(To eliminate overstatement of depreciation for current year created by unrealized gain on intercompany equipment transfer.)

A final, more involved problem exists. Mighty's income for the previous years is being reduced by $24,000 while also being increased by $3,000 in the current year. All of the simultaneous equations in part b. are based on reported income figures that now are altered by the two consolidation entries above.

29.
(continued)

To compute Entry *C1 and *C2 in connection with prior years' earnings, the equations below must now be developed. Mighty's reported income (after amortization) is reduced here by the $24,000 unrealized gain.

Mighty's Realized Income = $446,000 + 60% of Lowly's Realized Income

and

Lowly's Realized Income = $300,000 + 20% Of Mlghty's Realized Income

Substituting the second equation Into the first:


MRI = $446,000 + .6 ($300,000 + .2 MRI) 


MRI = $446,000 + $180,000 + .12 MRI 

.88 MRI = $626,000 


MRI = $711,364

Because Mighty previously reports income of $500,000 and Entry *TA reduces that by $24,000, a net effect of $476,000 is presently recognized. To arrive at the appropriate figure of $711,364, an accrual of $235,364 is recognized in Entry *C1.


Entry *C1



Investment in Lowly 

235,364




Retained Earnings, 1/1/04 (Mighty) 


235,364

(To adjust reported earnings of Mighty for prior years to realized income totals as per simultaneous equations solved above.)

The same simultaneous equations can be solved to arrive at Lowly's equity income accrual. Substituting the first equation into the second:


LRI = $300,000 + .2 ($446,000 + .6 LRI) 


LRI = $300,000 + $89,200 + .12 LRI 

.88 LRI = $389,200 


LRI = $442,273

Because $300,000 is already recorded, an additional accrual of $142,273 is required in Entry *C2


Entry *C2



Investment in Mighty 

142,273




Retained Earnings, 1/1/04 (Lowly) 


142,273

(To adjust reported earnings of Lowly in prior years to realized income totals as per simultaneous equations solved above.)

By altering Entries *C1 and *C2, changes are carried through that affect Entries S1 and S2 and the computation of the noncontrolling interest's share of the subsidiary's net income.

29.
(continued)


Entry S1



Common Stock (Lowly) 

300,000



Retained Earnings, 1/1/04





(Lowly—adjusted above) 

642,273






Investment in Lowly (60%) 


565,364





Noncontrolling interest in Lowly, 1/1/04 (40%)

376,909

(To eliminate stockholders' equity accounts of subsidiary against corresponding balance in investment account and to recognize noncontrolling interest ownership.)


Entry S2



Common Stock (Mighty) (20%) 

200,000



Retained Earnings, 1/1/04 (Mighty) (20%)





(adjusted above) 

182,273






Investment in Mighty 


382,273

(To remove intercompany stock held by Lowly. Retained earnings adjusted by *TA and *C1.)

Noncontrolling interest in subsidiary net income is $27,091. This figure is based on the 40% ownership level multiplied by Lowly's $67,727 realized net income. Because of the mutual ownership, Lowly's realized income can only be determined by solving two simultaneous equations for the current year. Mighty’s appropriate income is $98,000 after recognition of the $3,000 reduction in depreciation expense (Entry ED above) and $5,000 increase in amortization.

LRI = $40,000 + 20% of MRI



and

MRI = $98,000 + 60% of LRI

Then with substitution


LRI = $40,000 + .2 ($98,000 + .6 LRI)


LRI = $40,000 + $19,600 + .12 LRI

.88 LRI = $59,600


LRI (Lowly's Realized Income) – $67,727 (rounded)

33.
(45 Minutes) Develop worksheet entries that were used to consolidate the financial statements of a father-son-grandson combination.

Entry *G



Retained Earnings, 1/1/06 (Delta) 

15,000




Cost of Goods Sold 


15,000


(To recognize gain that was unrealized in 2005 [amount provided].)


Entry *C1



Retained Earnings, 1/1/06 (Delta) 

16,000




Investment in Omega Company 


16,000

(To recognize amortization expense from Delta’s purchase for the 2002–2005 time period at $4,000 per year [$80,000/20 years].)


Entry *C2



Retained Earnings, 1/1/06 (Alpha) 

49,800




Investment in Delta Company 


49,800

(To recognize Alpha's 80% portion of $31,000 reduction in Delta's book value recorded in first two entries above [$31,000 x 80% = $24,800]. Entry *C2 also recognizes amortization expense of $25,000 for the 2001–2005 time period at $5,000 per year [$100,000/20 years].)


Entry S1



Common Stock (Omega) 

100,000



Retained Earnings, 1/1/06 (Omega) 

100,000




Investment in Omega (70%) 


140,000




Noncontrolling Interest in Omega (30%) 


60,000

(To eliminate stockholders' equity accounts of Omega against corresponding balance in parent's Investment account and to recognize outside ownership.)


33. (continued)


Entry S2



Common Stock (Delta) 

120,000



Retained Earnings, 1/1/06 (Delta, as adjusted) 

369,000




Investment in Delta (80%) 


391,200




Noncontrolling Interest in Delta (20%) 


97,800

(To eliminate stockholders' equity accounts of Delta [as adjusted as Entry *G and Entry *C1] against corresponding balance in Investment account and to recognize outside ownership.)


Entry A



Copyrights 


139,000




Investment in Delta 



75,000




Investment in Omega 



64,000

(To recognize January 1, 2006 unamortized copyrights, 5 years amortization recorded on first investment but only four years for second.)


Entry I1



Income of Subsidiary 

144,000




Investment in Delta 


144,000

(To eliminate intercompany income accrual found on Alpha's records.)


Entry I2



Income of Subsidiary 

49,000




Investment in Omega 


49,000

(To eliminate intercompany income accrual found on Delta's records.)


Entry D1



Investment in Delta 

32,000




Dividends Paid (Delta) 


32,000

(To eliminate intercompany dividend payments, 80% of Delta's payment.)


Entry D2



Investment in Omega 

35,000




Dividends Paid (Omega) 


35,000

(To eliminate intercompany dividend payments, 70% of Omega's payment.)


Entry E



Operating Expenses 

9,000




Copyrights 


9,000

(To recognize current year amortization, $5,000 on first purchase and $4,000 on second.)

33.
(continued)


Entry P



Liabilities


 20,000




Receivables 


20,000



(Drop in consolidated values indicates existence of intercompany debt.)


Entry Tl



Sales


200,000




Cost of Goods Sold 


200,000



(To eliminate intercompany inventory transfer.)


Entry G



Cost of Goods Sold 

22,000




Inventory


22,000



(To defer ending unrealized gain on intercompany transfers.)


Noncontrolling Interest in Omega's Income


Reported income 

$70,000


Outside ownership 

       30%

Noncontrolling interest in Omega’s income 

$ 21,000

Noncontrolling Interest in Delta's Income


Reported operating income 

$131,000


Equity income investment in Omega (70%) 

49,000


Amortization expense 

(4,000)


2005 Unrealized income realized in 2006

15,000


2006 Unrealized income realized in 2007 

(22,000)


Realized income—Delta (2006) 

$169,000


Outside ownership 

      20%

Noncontrolling interest in Delta's income (2006) 

$ 33,800

Noncontrolling interest in Delta Company





Noncontrolling interest, 1/01/06 (Entry S2)

$  97,800



Noncontrolling interest in Delta’s income (above)

33,800



Dividends paid to noncontrolling interest 



   ($40,000 x 20%)

     (8,000)




Noncontrolling interest in Delta, 12/31/06

$123,600

Noncontrolling interest in Omega Company





Noncontrolling interest, 1/01/06 (Entry S1)

$60,000



Noncontrolling interest in Omega’s income (above)
21,000



Dividends paid to noncontrolling interest 



   ($50,000 x 30%

(15,000)




Noncontrolling interest in Omega, 12/31/06

$66,000
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